Seat No.: Enrolment No.

GUJARAT TECHNOLOGICAL UNIVERSITY
DIPLOMA ENGINEERING - SEMESTER-VI « EXAMINATION — WINTER 2016

Subject Code: 361903 Date: 21-10-2016
Subject Name: Industrial Engineering
Time: 10:30 am - 01:00 pm Total Marks: 70

Instructions:
1. Attempt all questions.
2. Make suitable assumptions wherever necessary.
3. Figures to the right indicate full marks.
4. English version is considered to be Authentic.

Q.1 (&) Define work study and state various stages of work study procedure.
(b) What are ‘Therbligs’? Explain any eight Therbligs with example.

Q2 (@ ExplanOPC
(b) ExplainFPC
OR
(b) Explain man and machine chart.

Q.3 (&) Define ‘Wage incentive’, explain ‘Tailor’s differential plan’.
(b) Distinguish following terms. (i)inspection and quality control (ii)Assignable
causes and chance causes(iii)quality of design and quality of conformity.
OR
Q.3 (a) Explain quality cycle.
(b) A hardness check on 500 pieces yielded the following results. calculate the
mean and standard deviation.

hardness frequency hardness frequency
260-264 17 275-279 104
265-269 86 280-284 43
270-274 240 285-289 10

Q.4 (a) Describe the method of drawing variable quality chart(Xbar-Rchart).
(b) Ten assemblies of a car manufacturing company are inspected. Defects per
assembly are as follows:

Car |1 2 3 4 5 6 7 8 9 10
asse
mbly
defe |5 4 4 10 5 9 7 3 2 1
cts

draw suitable control chart and comment on it.

OR
Q.4 (a) Define ‘process capability’. how it helps in S Q C.
(b) Define statistical tolerancing. How it is useful in manufacturing process?

Q.5 (a) Define the ‘Reliability’. State the factors affecting Reliability.
(b) Explain the importance of Ergonomics principles in work study.
OR
Q5 (@ ExplanTQM
(b) Explain ‘KaiZen’ technique with example.
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